~
UWA DATA LOG: SHRIMP ZIRCON U-Pb
Date UWA Mount No. Whose sample? Operator(s)
20/4/5'3 g8 -24 TD [Joas Me V
Indicate any change to the following: 196 204 bkg 206 207 208 238 248 254
Precambrian Count time (secs): 2 _ 10 10 10 30/407 10 5 5 2
Delay time (secs): 7% 3 1 2 1 1 3 2 2
= | 232
expected 196-204 = 8.170 amu expected 204-bkg = 0.040"amu Dead-time = .....:.50.. nanosecs
actual 196-204 = g’é‘f ...... actual 204-bkg = 00¢S expected resolution = >4200
actual 206-207 = ..... /OOD ..... actual 206-208 = ... 2.. 2.0 O actual resolution:..gé.é.zf..
Primary = ... 2.../.. nA PESABM= ..Zc.. pA  actual Primary : PESABM (= 50:4) = o Bl
Raster time (mins): / ........ Raster aperture (microns): ....... /00 ....... No. of scans: ........... é ......
Comments: g = Cgsb 5 ﬁm D
(b0
Rejection  Sample/ Time- UOM 196 206 U 204pp  fo06 Age+1c (Ma) €Com
over-ride Std ID printout / cps cps ppm  ppb % 206/238  207/206 96 -12)
Zb-20%
g.16g
............ sl.10:1.1:33]6:80)| 898|325 (220 | -0.8 | 003]572 4 |5y 22/|5 250
5(.0:2)| 1521696187 11218 |26 |-0.8 | orz|spray std 22| ~ e -
wdBdnl 25 7.04\9.5 1203 143 3| 2.0 | 012169023 Jen 2 74| — 1=
B 1-22:3217.06| 2 w637 \ws | 0.2 |03 (60622 [sps234| — —
s/ w0-3|12:50|7.10 | 8.4 1287 |2/401-0./ | " |5272 1 |6152 20| 1 —
sl 10-413:0717.03 9.0 /3¢5 |2/0|-0-1 | .00 |SEE2 / by 222| — n —
..... E.2:1113:206:85 19:2 [268 [3r:2] /S |64 |6l z3parutiog) " =
£.2-|1344|7-2¢|18.7 947 |127| 42 |.58 |02 2|4732 60| — —
B 3-2\/:0/|7.14|8.5 |1052|/s2| 0.3 |-03 6582 1|73 224]— -
U 3 -
P77 g s/ 0-S|ly 1G9 7.26(8.4 /297|154 1.q |18 |s562] |sbp235|—+ -
W- ........... _.._.1.. ...... .’ ............................................... / ...... ’. ......................................................
e SEE A2 At T |




Mount/sample No: ..M. 50 .G85 Date: ........... L0406 750 A Page No: ........o.......
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Rejection  Sample/ Time- UOM 196 206 U 204pp  fygg Age t1c (Ma) Gerr
over-ride Std ID printout cps cps ppm  ppb % 206/238  207/206
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